aD
= — eq. 1
VXH=]+— (eq. 1)
J=0dE+], (eq. 2)
D =¢E (eq. 3)
0A

E=-V-—-=-V—jod (eq. 4)
B = uH (eq. 5)
B=VxA (eq. 6)

dD
eq.2 - eq.1 VXH=0E+]e+E (eq.7)

Time-harmonic VXH=0E+],+ jwD
(ea. 8)
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eq.3 > eq.8 VXH=0E+], + jweE (eq.9)
VX H=a(-VV —jwA) + ], + joe(—VV — jwl)
/ /
eq.4 - eq.9 o(VV + jwA) + joe(VV + jwA) + VX H =],
(eq. 10)
)
(0 + jwe)VV + (ojw — w?e)A+ VX H =],
eq.5 - eq.10 (o0 + jwe)VV + (gjw — w?e)A+ VX (u™B) =], (eg. 11)
eq.6 > eq.11 (o + jwe)VV (ojw — w?e)A+V x (u" 1 (VxA) =], (eq.11)
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Comsol’s equation




